Pre-Algebra
Linear Function
Example 2

Identify if the equation will produce a horizontal or vertical line, then graph the function:
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Identify the slope in the following equations:
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Find the intercepts for the following and graph:

\.1:4—%X
K-ink: ‘6 =0
o :L]—q7(

1y a4y

2. 4%+t 23y -3 (o
A-Cne qe Aink: 9= 0
0=%+| 3 -2x= 0
,—\|=7<,\ ’Eji:(a

T2, T3

B /X—lﬁkk—\lo} o= -7
Yrine s x=o - Kane (22,0}

%aO-H %Wﬂb.x=o
ol Zaa,,‘é(}));(_’
.- “Int A\ =G

Jrtlen) =




'\,\5«.7(—”

(S R 1V
gty By

Write the following equations in slope-intercept form and graph using the slope and intercept:
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